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for A2 Economics
Name: 
Question types 

	Paper 1 

80 marks, 2 hour 
	Paper 2

80 marks, 2 hour
	Paper 3 

80 marks, 2 hour

	Section A

2 Mark

4 mark

9 mark

25 mark 

Section B 

(choose one of 3 combinations)

15 mark 

25 mark 


	Section A

2 Mark

4 mark

9 mark

25 mark 

Section B 

(choose one of 3 combinations)

15 mark 

25 mark
	Section A

30 multiple choice

Section B 

(no choice of questions)

10 mark question 

15 mark question 

25 mark question  
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Do not answer Context 2 if you have answered Context 1
OR

CONTEXT 2 Total for this Context: 40 marks
Inequality
Study Extracts D, E and F and then answer all parts of Context 2 which follow.

Extract D: The effects of taxes and benefits in the UK on household income by quintile
groups, 2011-2012

Quintile group

“ 5 o
38000
Key

Originat

30 26000 I Ori

31000 [ Final

incams

o [ 12000

24000
Bottom oo0
18000

0 20000 40000 60000 80000 100000 120000
Average per househald (£ per year)

‘Source: Office for National Statistics licensed under the Open Govemment Licence v. 1.0.
Extract E: In favour of inequality

The way in which society’s resources are distributed has long been of major concer to 1
economists, directly affecting as it does the level of social welfare. Changes in the size and
distribution of national output raise important questions of efficiency and also involve basic

issues of equality. However, what is equitable is a matter of considerable debate amongst
economists of different political persuasions 5

It has been arqued by the supporters of free-market capitalism that growing inequality would
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Answering 2 mark and 4 mark questions 

2 mark 
These questions are straight forward and will usually require you to make a simple ‘percentage’ calculation. Usually the calculation will be either a percentage change or a percentage of calculation. 

These questions should take no longer than 2 minutes (with practice). However it is important to secure the full 2 marks. Make sure you do exactly what the question asks you to do.

Example
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EITHER
Context 1 Total for this context: 40 marks. H
The UK energy market

Study Extracts A, B and C and then answer all parts of Context 1 which follow.

Extract A: Average household dual fuel bills August 2009-2013 (£)

2009 2010 2011 2012 2013
Household bills 1145 1105 1250 1310 1420
Wholesale energy costs per bill 615 485 585 625 635
Profit per bill 10 55 45 50 95

Source: Contains public sector information licensed under the Open Government Licence v. 1.0

Extract B: Are energy firms exploiting their market power?

The UK energy market was privatised in the early 1990s and is dominated by six firms, British

1
Gas, EDF Energy, E.ON, Npower, Scottish Power and SSE. These firms supply, produce and
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1. Using the data in Extract A, calculate, to two decimal places, the overall percentage change in household bills from 2009 to 2013. [2 marks]
Answer 
[image: image2.png]== * ]
OB & rovrisorsnorsabioucseconomis a3 o | Bbgeand = [Oe——m— e

File Edit Goto Favorites Help
[ZTmarrsy =

Calculation:
Average household bills were £1145 in 2009 and £1420 in 2013 therefore the percentage change E
is 24.02%.

Response Marks

For the correct answer with the % sign and to two decimal places
2 marks

For a correct answer but without the % sign and/or not to two decimal places 1 ‘
mar|

MAXIMUM FOR QUESTION 01: 2 MARKS





Question
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Do not answer Context 2 if you have answered Context 1
OR

CONTEXT 2 Total for this Context: 40 marks
Inequality
Study Extracts D, E and F and then answer all parts of Context 2 which follow.

Extract D: The effects of taxes and benefits in the UK on household income by quintile
groups, 2011-2012

Quintile group

“ 5 o
38000
Key

Originat

30 26000 I Ori

31000 [ Final

incams

o [ 12000

24000
Bottom oo0
18000

0 20000 40000 60000 80000 100000 120000
Average per househald (£ per year)

‘Source: Office for National Statistics licensed under the Open Govemment Licence v. 1.0.
Extract E: In favour of inequality

The way in which society’s resources are distributed has long been of major concer to 1
economists, directly affecting as it does the level of social welfare. Changes in the size and
distribution of national output raise important questions of efficiency and also involve basic

issues of equality. However, what is equitable is a matter of considerable debate amongst
economists of different political persuasions 5

It has been arqued by the supporters of free-market capitalism that growing inequality would
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Using the data in Extract D, calculate the difference between the mean original income and the mean final income of the five quintile groups. [2 marks]
Answer 

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………
4 mark questions 

These questions ask the candidate to make simple explanations. They are not considered particularly taxing and with practice most students should achieve full marks in less than 6 minutes. They  require  candidates to do the following:-

· Define a key term 

· Use evidence such as a quote or a piece of data to support your argument.

· Give a short explanation that supports your argument 

Example
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EITHER
Context 1 Total for this context: 40 marks. H
The UK energy market

Study Extracts A, B and C and then answer all parts of Context 1 which follow.

Extract A: Average household dual fuel bills August 2009-2013 (£)

2009 2010 2011 2012 2013
Household bills 1145 1105 1250 1310 1420
Wholesale energy costs per bill 615 485 585 625 635
Profit per bill 10 55 45 50 95

Source: Contains public sector information licensed under the Open Government Licence v. 1.0

Extract B: Are energy firms exploiting their market power?

The UK energy market was privatised in the early 1990s and is dominated by six firms, British

1
Gas, EDF Energy, E.ON, Npower, Scottish Power and SSE. These firms supply, produce and
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2. Explain how the data in Extract A show that energy companies have exploited their market power [4 marks]
Answer:

The energy market is an oligopolistic market which is defined as a market which is dominated by a small number of large firms. In extract A it show that throughout the period 2009 to 2013 the total profits per bill went up from £10 per bill in 2009 to £95 in 2013, a percentage increase of 850%. Whilst over the same period wholesale energy costs went up by only 3.25%. This shows that the energy companies have exploited their market power. Some economist may argue that this is due to collusive behaviour.
Answer 
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02 Explain how the data in Extract A_show that energy companies have exploited their market

power.
[4 marks]

includes evidence that shows that energy companies have explofted their market
power
clearly explains how this data s evidence of energy companies exploiting their
market power
includes evidence that shows that energy companies have explofted ther market

power 3 marks
unclear explanation of how this data is evidence of energy companies exploiting

their market power

includes evidence that shows that energy companies have explofted their market

power

fimited explanation of how this data is evidence of energy companies exploiing
their market power

exploited their market power
o explanation of how this data is evidence of energy companies exploiting their
market power.

indludes evidence it does not dlearly Show haf energy companies have “

Relevant issues include:

Evidence of profits rising by a higher proportion than the ise in wholesale costs is an indication
of the exploitation of market power

Evidence of profits rising by a higher proportion than household bills is an indication of the
exploitation of market power.

the data shows profit element in household bills rose from £10 to £95 between 2009 and 2013
average billsper household rose from £1145 to £1420 over the period, a larger increase than
the ise in wholesale energy element in household bills, £615 to £635

between 2009 and 2010, wholesale energy costs fell from £615 to £485 per bill but average bills
had a smaller decrease, £1145 10 £1105-

between 2012 and 2013, wholesale costs increased by £10 per bill at a time when household
bills rose by £120 and profits by £45 per bill

MAXIMUM FOR QUESTION 02: 4 MARKS

o gy 6
<O





Question 
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Privatisation of Royal Mail
Study Extracts A, B and C and then answer all parts of Context 1 which follow.
Extract A: UK parcels delivery market
Figure 1: UK parcels delivery market Figure 2: Employees and revenue per employee in
shares by revenue, 2015 the UK parcels delivery market
70 350
60 300
~ 50 250
Royal Mail 2":‘"“29;5; P 200 pR:,venue
o5 30 150 GRopeny®
20 100
10 50
0 2008 2009 2010 2011 2012 2013 2014 0

10.4%

Year
Key

[ Number of employees (000s)
— Revenue per employee (£000s)

Source: Apex Insight Industry Report, 2015





Explain how the data in Extract D show that taxes and benefits have been successful in reducing inequalities in household income in the UK. [4 marks]
……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………….
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Mark the following 4 mark questions 

	Explain how the data in Extract A (Figure 2) show that the UK parcels delivery market is displaying dynamic efficiency. 

Answer 1 


Extract A indicates evidence of dynamic efficiency through the decrease in employees from 2008 – 2014 as well as the increase in revenue per employee. This would suggest there has been further investment into developing capital of the firm in order to achieve higher levels of output.

JB924

Write your comment below and give the response a mark

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

Answer 2 

Dynamic efficiency is where firms who are earning super normal profits have the ability to invest in research and development in order to improve products and the productive process. This is shown by the number of employees falling from roughly in 58m in 2008 to approximately 48m in 2014. However the revenue per employee increased over the whole period from approximately £152,000 per in 2008 to approximately £280,000 in 2014. Therefore the profits earned by the delivery market have been starting to rise causing an increase in dynamic efficiency.

Write your comment below and give the response a mark

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

JH 934

Answer 3 

In fig 2 it shows that the number of employees has fallen from around 58,000 in 2008 to around 47,000 in 2014 (a drop of about 11,000) However at the same time the revenue per employ has increased by about £125,000 from around £160,000 in 2008 to £285,000 in 2014. This therefore means the firm must be more dynamically efficient as revenue per worker has increased despite a reduction in the workforce.

EU 934

Write your comment below and give the response a mark

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

[image: image12.wmf]
9 mark questions 

To do well in 9 mark answers do the following things:-

· Make two point unless the question instructs you to do more.

· Telegraph your point and then explain it (develop your answer in clear logical chains)

· Use a diagram

· Use the data from the extract to support your point

· Define key terms
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SECTIONB

Belowis the levels of response marking grid which should be used to mark the 15 mark questions

Level of
response

Response

Max
15 marks

‘A good response provides an answer that:

is well organised and develops a selection of the key issues
that are relevant to the question

‘shows sound knowledge and understanding of economic
terminology, concepts and principles with few, f any, emors
includes good application of relevant economic principles to the
given context and, where appropriate, good use of data to
support the response

includes wel-focused analysis with clear, logical chains of
reasoning

‘Areasonable response provides an answer that:

focuses on issues that are relevant to the question
‘shows satisfactory knowledge and understanding of economic
terminology, concepts and principles but some weaknesses
may be present

includes reasonable application of relevant economic principles
to the given context and, where appropriate, some use of data
tosupport the response

includes some reasonable analysis but which might not be
‘adequately developed or becomes confused in places

‘A weak response provides an answer that:

has identiied one or more relevant issues
has some imited knowledge and understanding of economic
terminology, concepts and principles but some errors are ikely
has very limited application of relevant economic principles to
the given context andor data to the question

might have some limited analysis but it may lack focus and/or
become confused

)G g e P I.E| T

)

1519
170520017 |
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15 mark questions

Tips for answering a 15 Mark question

[image: image15.png]@ hitps://filestore.aqa.org uk/sample-papers-and-mark-schemes/2017/june/AQ MS-JUNT7.PDF - ac|a
& AQA| AS and Aclevel [ Econo.. | (& filestore.aga.org.uk M[&;

Fie Edit Goto Favorites Help

©
©

Explain how government policies can reduce the natural rate of unemployment.

[15 marks]

Relevant issues include:
o definitions/explanations: unemployment, government policies, the natural rate of
unemployment
linking the natural rate to equilibrium in the labour market
identifying the natural rate as being caused by mainly “voluntary” unemployed workers
linking the natural rate to structural, frictional or real wage unemployment
explaining the nature of the supply and demand for labour
explaining the role of supply-side policies in reducing the natural rate
considering interventionist or laissez-faire approaches to reducing the natural rate
explaining the role of wage and inflationary expectations in altering the natural rate
explaining any of the following
o the level of JSA
the level of taxation
the NMW
training schemes
transferable skills
occupational mobility
geographical mobility
trade union reform
labour market flexibility
childcare assistance
reducing hysteresis/long-term unemployment
reducing wage expectations
or any other valid reason

The use of relevant diagrams to support the analysis such as a long-run Phillips curve or a labour
market diagram should be taken into account when assessing the quality of the candidate’s
response to the question.

Use the levels mark scheme on page 13 to award students marks for this question.

O Type here to search [l 0 %@ & W8 G € *
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What information should your 15 mark question contain?

Definitions: Define Key terms 

Analysis: Make 3 points unless the question asks you to make a specific number of points

Identify point (telegraph your point) and then explain it.

Relevant diagram: Draw a diagram that is the most relevant to the point that you are attempting to make.

Use data where possible to support your answer.

DO NOT: do any evaluation, write a conclusion – you will not be marked down for evaluating and writing a conclusion but you will waste valuable time and gain absolutely no extra marks.
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Question 26
MARKETS FOR ALCOHOLIC DRINKS
Study Extracts A, B and C, and then answer all parts of Question 26 which follows.

Extract A: The prices of alcoholic drinks, selected retail outlets in London,

March 2008
Pint of beer Glass of wine Measure o_f spirit
(e.g. whisky)

Public house
(Central London) £3.00 £2.55 £2.40
Specialist shop £1.33 £1.51 £0.45

(off-licence)
Asda supermarket £1.20 £1.27 £0.43
Tesco supermarket £1.20 £1.27 £0.47

Note: supermarket and shop prices are based on the prices charged for a measure of the alcoholic drink in a
public house (pub).

- 1218
O Askme anything L





Task: Complete this question on a separate sheet of A4 paper. Use the areas for discussion to help you formulate your response.

Explain how price and output are determined for a firm in a monopolistically competitive market, in both the short run and the long run (15 marks)

Mark scheme 
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Extract B: Reducing the consumption of alcoholic drink

Along with tobacco and narcotic drugs such as heroin, alcoholic drink is classified 1
by many economists as a demerit good. The British Medical Association (BMA),
which is the main professional group representing doctors, recently said that

more than a quarter of all drink-related deaths could be prevented by a 10 per

cent rise in taxes on beer, wine and spirits. The BMA suggests tax increases 5
should be linked to the alcoholic strength of drinks.

The BMA backed calls from Tesco for the Government to ban cut-price alcohol,
including two-for-one offers and so-called ‘loss-leaders’, in which drinks are

sold at prices below cost to attract people into bars and shops that sell alcohol.

The BMA Ethics Committee stated: “We have a public health emergency and 10
people need to be prepared to look at an increase in price. They may not want

to pay more but they also don’t want to see their children, their friends and their
neighbours dying from liver failure in their 20s and 30s.” The Committee went

on to say that recent UK governments have worked too closely with the alcohol
industry and have refused to intervene in the way that alcoholic drinks are priced. 15

In 2008, taxes on alcohol in Britain are already among the highest in Europe.
Beer and wine are taxed at 33 pence a pint and around £1.50 a bottle
respectively, and alcoholic drinks are also subject to Value Added Tax (VAT).

Source: news reports, 2008

Q Askme anything
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Extract C: Is alcoholic drink too cheap?
In a free market, should we stop alcohol being cheap? We may wish to end the 1

sale of lager that costs less than bottled water, but it is simplistic to assume

that binge-drinking is price-sensitive. And it is wrong to allow drunken yobs to

deprive ordinary consumers of the opportunity to buy wine, beer and spirits at a
reasonable market price. 5

A change in behaviour, not pricing, is needed. There are laws against drunken
behaviour and selling alcohol to under 18s, but they are not always enforced

rigidly enough; they may also need to be made stricter. Most major supermarkets

are careful not to sell alcohol to anyone under 18, but would 21 be a more

sensible age limit? Meanwhile, some smaller shops are shockingly casual about 10
the under-18 rule.

A Tesco spokesperson recently said: “We can’t put up our prices because people
will simply shop elsewhere. It could be commercial suicide, and supermarkets
can't act together to put up prices because that would be against the law.”

Source: news reports, 2008

Q Askme anything




Task: Complete this question on a separate sheet of A4 paper. Use the areas for discussion to help you formulate your response

Explain how government policies can reduce the natural rate of unemployment
 (15 marks)
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Extract C: How does Brazil compare with the UK?
Selected data for the UK and Brazil (2013 unless otherwise stated)

[ Ok T Brazl ]
DP (PP 5239 trllion 5242 trlion
Real GDP per head (PPP) $12,100

Real GDP growth per capita (2000— T74% per annum 227% per annum
2012

Average growth (2000-2012) 1.72% per annum 3.41% per annum
Fuman Development Index (HDI) 0875 0730
(World ranking 26)

[infion [ 27% |
‘Current account of the balance of 241%
payments (%GDP)

e
%

Infant mortalfty rate 75 per thousand ive T9.8 per thousand fve
births births

Populaiion 207.0 milfion
Population % over 65
Population, % under 15

Source: The Workd Factbook 2013-14. Washingion, DC: CentralInsSigence Agency, 2013

Note: PPP = purchasing power parity

Turn over for Extract D after you have answered questions 31 and 32 in order to answer question
3

R 545
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Writing ‘A’ grade essays 

25 mark essay question

In order to answer a 25 mark question candidates need to demonstrate the following skills:-

AO1: KNOWLEDGE: Demonstrate knowledge of terms/concepts and theories/models to show an understanding of the behaviour of economic agents and how they are affected by and respond to economic issues

AO2: APPLICATION: Apply knowledge and understanding to various economic contexts to show how economic agents are affected by and respond to economic issues

AO3: ANALYSIS: Analyse issues within economics, showing an understanding of their impact on economic agents

AO4: EVALUATION: Evaluate economic arguments and use qualitative and quantitative evidence to support informed judgements relating to economic issues

Analysis 

This skill is where you explain economic theory. In the essay you will identify 3-4 points that could be used to answer the question. You will then go on to write an explanation of these points in clear logical chains. To be able to build up chains of analysis candidates will usually build up answers using phrases like:

“this leads to”

“this means that” 

“therefore”

“this is caused by”

“because”

“then”

“as a consequence”

“this will result in”

NOTE: Where possible refer to a diagram during your explanation

Example:

Explain how an increase in advertising in the car industry might affect the market for petrol.

An increase in advertising in the car industry will result in a shift of the demand curve for cars to the right. Because cars and petrol are complementary goods as the demand for cars increases so will the demand for petrol, this can be seen as a shift D to D1 in the diagram below. This will lead to excess demand in the market. As a consequence petrol suppliers will be incentivised to increase price and increase supply. 

[image: image21.png]© flestoreagaorgk © fiestoreaqs.orguk

Study Extracts D, E and . and then answer all parts of Context 2 which follow.

Extract D: Market shares (%) of selected smartphone brands in the US market,
May 2010 to May 2011

thatlets the user make telephone calls, but
would have been found only on devices-

proportion of the

A number of factors increased the sales of smarfphones and some al
o all in 2011. One of the faciors was fashion. A smartphone is now viewed

by many people, partculary the young, as a ‘must-have Fashion

that some users want to buy the latest, most advanced, smartphor

is advertised, replacing the model bought the year before. Other factors include

substantial economies of scale, Improvements in productive effciency and te entry of

new fims into the mark

Smartpho
low-cost factories located mostly in Asia. Some people believe that the main
11:30

<3O
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by many people, particularly e young, as a ‘musthave fem. Fashion also means.
that some users want to buy the latest, most advanced, smartphor on as it
is advertised, replacing the model bought the year before. Other factors include
of scale, improvements i productive ey and the entry of
into the market,

‘Smartphones are assembled from a very large number of componert
low-cost factories located mostly in Asia. Some people believe that the main
why manufacturing costs are low stems from the low wages paid to Asian works

‘Smartphone manufacturers, with their headquarters in the USA and ofher rich
countries, have been accused of exploiting the workers in poor counties whom they
mpioy to make their phor

Source:news reports. 202

Extract F: Mobile phone use and possible health risks

“The World Health Organisation (WHO) has stated that there “could be some rsk” of
mobile phone use causing cancer. Some national radiation advisory authorities have
recommended measures to minimise exposure of their citzens to radiation emitied
by mobile phor . n Scientiic

the ink to and from mobile phones. In contrast to mobile han

ly. People who spend long periods oftme a short
activ telecommunications equipment may be at isk of much greater exposure o
radiation than the general population.

In February

at mobile phone users and ot
govermments, should take responsibiity for avoiding health ouid do this, 15
for exampl, by using hands-ree devices to decrease radiation 0 the head. The

of mobile phones when driving can also cause accidents.

epors 2008202

efine the tem ‘productive efficiency’ (Extract E, ine 12) (5 marks)

Using Extract D, identfy two significant points of comparison between the marke
shares of smariphone brands over the period shown. (@ marks)

With the help of the information in Extract E, expiain two possible reasons for the
change in the sales of smartphones in 2011 (12 marks)

132
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Evaluation:

This skill is where you discuss how significant you preceding point was, which in turn will help you to make a final judgement.  It includes weighing up both sides of an argument and considering how the impact might be different in different scenarios. To evaluate you should consider how likely your point is to happen in reality. Start each piece of evaluation with an evaluative phrase. Common evaluative phrases include:

“this is significant because”

“this is not very significant because”

“the significance of this argument depends upon”

“However”

“An unintended consequence”

“On balance”

“In the short run”

“in the long run”

“The success of this policy depends on”

“An important advantage/disadvantage is”

NOTE: you should evaluate every point you make at least once!!!

SEE APPENDIX 1 for Tips for writing evaluative comments.
Essay Layout 
· Introduction 

Define key terms that have been raised in the question. Then set the scene, give the examiner a very brief over view of the points that you’ll raise in the main body of the essay. 

Prove to the examiner that you understand the context.

USE at least one diagram in your answer.

· Main body 

Raise 2 to 3 possible explanations that answer the question set.  Each point should be applied to the context of the market in question, fully explained and evaluated

Structure of the main body 

1st point /explanation/Analysis – (these terms are largely inter changeable) 

1st then immediately evaluate the point you’ve just made

2nd point /explanation/Analysis

2nd then immediately evaluate the point you’ve just made

3rd point/explanation/Analysis

3rd then immediately evaluate the point you’ve just made

· Conclusion

Make a final judgment, justify your choice

MAKE SURE YOU TELEGRAPH EACH POINT!! – THIS MEANS USING THE FIRST SENTAENCE OF YOUR EXPLANATION TO SUMMARIZE YOUR POINT FOR THE EXAMINER. IF YOU DO THIS YOUR EXPLANATION IS LESS LIKELY TO BE MISUNDERSTOOD!

Top tip – other than in your introduction you should either be making a point or evaluating it. 
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Level of
response

Response

Max
25 marks

Sound, focused analysis and well-supported evaluation that:

is well organised, showing sound knowledge and understanding of
economic terminology, concepts and principles with few, if any, errors
includes good application of relevant economic principles and, where
appropriate, good use of data to support the response

includes well-focused analysis with clear, logical chains of reasoning
includes supported evaluation throughout the response and in a final
conclusion.

21-25
marks

Sound, focused analysis and some supported evaluation that:

is well organised, showing sound knowledge and understanding of
economic terminology, concepts and principles with few, if any, errors
includes good application of relevant economic principles and, where
appropriate, some good use of data to support the response

includes some well-focused analysis with clear, logical chains of
reasoning

includes some reasonable, supported evaluation

16-20
marks

Some reasonable analysis but generally unsupported evaluation that:

focuses on issues that are relevant to the question, showing
satisfactory knowledge and understanding of economic terminology,
concepts and principles but some weaknesses may be present
includes reasonable application of relevant economic principles and,
where appropriate, some use of data to support the response
includes some reasonable analysis but which might not be adequately
developed or becomes confused in places

includes fairly superficial evaluation; there s likely to be some attempt
to make relevant judgements but these aren't well-supported by
arguments and/or data

11-15
marks

A fairly weak response with some understanding that:

includes some limited knowledge and understanding of economic
terminology, concepts and principles but some errors are likely
includes some limited application of relevant economic principles
and/or data to the question

includes some limited analysis but it may lack focus and/or become
confused

includes some evaluation which is weak and unsupported

6-10
marks

Avery weak response that:

includes lttle relevant knowledge and understanding of economic
terminology, concepts and principles

includes analysis which s, at best, very weak

includes attempted evaluation which is weak and unsupported

1-5
marks
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Evaluate the view that expansionary Fiscal Policy is always beneficial to the UK’s macro-economic performance (25 marks)

Expansionary fiscal policy is a policy tool that governments can use to increase economic activity. It involves lowering taxes and/or increasing government spending to help the government achieve its macroeconomic objectives, which are low unemployment, low inflation, economic growth and a favourable Balance of payments position. During this essay I will look at the positive effects that an expansionary fiscal policy can have on Employment levels and Economic growth and the negative effect it can have on inflation and the Balance of payments.

One benefit of Expansionary Fiscal Policy is that it that it can lead to a reduction in cyclical unemployment. If the government decides to reduce income tax this will mean that the disposable income of consumers will increase. This will lead to an increase in consumer spending which will increase Aggregate Demand. This can be seen in the rightward shift in the AD curve below from AD to AD1. This increase in national output is further exaggerated by the workings of the multiplier effect. The increase in Aggregate Demand increases the demand for goods and services and as labour is in derived demand this will lead to an increase in the demand for labour. As a consequence a decrease in income tax will lead to a fall in cyclical unemployment.
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Areas for discussion include:

« distinction between traditional economic theory, which assumes people are rational decision makers,
and behavioural economic theory

«  market failure and people’s choice of diet, eg asymmetric information, ‘unhealthy food products’ as
demerit goods, inequitable distribution of income

« advertising and product promotion strategies employed by the food industry and how they influence
people’s choices

« policies that might help to correct information problems, eg compulsory food labelling, publicity
campaigns

« policies to restrict advertising that misinforms or misleads consumers

« the impact of imposing legally enforced restrictions on, for example, the fat or salt content of
processed foods

« policies that can be adopted to encourage people to adopt a healthy diet, eg indirect taxes,
subsidies, better information

« relevance of elasticities

«  behavioural factors that might affect people’s choices, eg habit, other people’s choices, social norms,
motivation to ‘do the right thing’, people give inadequate weight to the long-term consequences of
their actions

« policies related to behavioural economic theory that can be used to encourage people to adopt a
healthy diet, eg nudges, framing, influencing atitudes

«whether providing better information and leaving it to individuals to make their own choices would
lead to an improvement in people’s well-being

« whether people are ‘predictably irrational’ and whether government policies that do not take this into
account are likely to be ineffective

« whether the individual is the best judge of their own welfare; and whether behavioural solutions are
paternalistic

« the unintended consequences of various policies.

The use of relevant diagrams to support the analysis should be taken into account when assessing the
quality of the candidate’s response to the question

Use the levels mark scheme on page 4 to award candidates marks for this question.

MAXIMUM FOR QUESTION 12: 25 MARKS
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However the extent to which unemployment falls will depend on the size of the fall in income tax. A large fall in income tax is likely to have a large impact on the level of unemployment. Added to this the effect of any fall in income tax on unemployment is dependent on the value of the multiplier. Also it is important to note that any decrease in income tax might lead to a fall in government revenues which could lead to a growing budget deficit.

Another benefit of Expansionary Fiscal Policy is that it could lead to an increase in Economic growth. This could be done by increasing government spending on infrastructure such as road building. This increase in government spending will increase AD, as government spending is a component of Aggregate demand. The increase spending on the infrastructure will increase employment and so therefore incomes in the economy. As incomes rise there will be increased demand for goods and services and so therefore firms will expand their production accordingly. This increase in output means real GDP has increased and the economy has experienced short run economic growth. There for an expansionary fiscal policy could lead to an increase in short run economic growth.

However increases in economic growth caused by increases in aggregate demand might lead to inflation if the economy is near its productive capacity. This is because increases in aggregate demand cannot be accommodated by increases in Aggregate supply. This will lead to excess demand in the economy and prices will start to rise.

Finally an expansionary fiscal policy may have a negative impact on the current account of the Balance of payments. If for example the government decided to lower corporation tax this might lead to an increase in business investment. Firms will now be demanding more machinery which will mean the suppliers of machinery now have increased incomes. This increased income exaggerated by the multiplier effect means that Aggregate demand has increased. As income in the economy rises consumers are likely to start importing more goods from overseas whilst at the same time as the economy nears productive capacity the price of domestic goods will rise. This means that exports will decrease. If imports rise and exports fall this may lead to a balance of payments deficit of the current account.

However the increase in Balance of payments deficit on the current account is dependent on factors other than short run economic growth. The value of exchange rates is also an important factor in determining the amount of UK exports – if for example the government tried to maintain a weak exchange rate this may mean that exports would rise and so therefore the increase in Aggregate demand may not have a negative impact on the Balance of Payments.

Also in the long run the increase in investment caused by the decrease in corporation tax will mean that UK goods actually become more competitive overseas as their price falls and the balance of payments could move towards surplus. 

Overall expansionary fiscal policy can be seen as beneficial to the UK economy as it increases both employment and economic growth. Its effect on unemployment is particularly powerful as it increases both short and long run economic growth. However it is clear that expansionary fiscal policy can have an adverse effect on inflation and the balance of payments. However I believe that these negative effects can be manipulation of exchange rate s to help aid exports and interest rates to curb inflation.

Use different coloured pens to highlight/annotate the essay above, by completing the following:-

Introduction

1. Does the introduction define any key terms? Does it give a brief introduction of the points that will be raised during the essay?

Application 

2. Where was the application in this essay?

Analysis

3. The three telegraphed parts of the points/analysis/explanation. 

4. The examples of expansionary fiscal policy in each piece of analysis?

Evaluation 

5. All the evaluative points.

Additional questions.

6. How many pieces of evaluation did you see for each point? (give a figure)

7. This essay would benefit from data that helps provide further context. To achieve the highest grades students must provide data either from the source material (extracts) or information that they have committed to memory!! 

Example – latest unemployment figures, growth figures, current account deficit, inflation rates etc

Hint: Use the OBR document – A brief guide to the public finances 2019-20

8. What else could be done to improve this essay? Write your comments in the space below






Evaluate possible economic policies, other than increasing the age limit, that a government might use to reduce significantly the consumption of alcoholic drinks. (25 mark)

Essay title: Evaluate possible economic policies, other than increasing the age limit that a government might use to reduce significantly the consumption of alcoholic drinks (25 marks)

High levels of alcohol consumption are thought to have a negative effect on society, as such governments have looked at different ways alcohol consumption can be reduced, in this essay I will look at different economic policies that can be used to achieve this aim. I will discuss the effectiveness of the following policies, imposing a specific tax on alcohol suppliers (this is a per unit tax on items sold) and a negative adverting campaign by the government to promote the dangers of high alcohol consumption and the government passing legislation to reduce the amount of places that can sell alcohol.

One economic policy a government might use to reduce alcohol consumption is to impose a specific tax on the product.  This will increase the costs of production of the firm and shift the supply curve to the left (this can be seen in the shift between S and S1 in the diagram below). This means that the market is now not in equilibrium as there is excess demand (Q-Q1), and then prices will be forced up to P1 as firms are incentivised to maximize profits. The market is in equilibrium again where prices are P1 and the quantity demanded is Q2. As a result the effect of the specific tax decreases the demand for alcohol.


However alcohol is an inelastic good – which means that the quantity demanded, is not very responsive to changes in price. This means that the effectiveness of the specific tax depends on the amount of the specific tax imposed.  From extract B line 16 it suggests that “In 2008, taxes on alcohol in Britain are already amongst the highest in Europe”. 

One benefit of using a specific tax to reduce the consumption of alcohol is that it creates increased income for the government who could then use this money to further finance the NHS. In addition the BMA suggests (extract B line) “more than a quarter of all drink related deaths could be prevented by a 10% rise in taxes on beer wine and spirits.

There is an unintended consequence to imposing a specific tax and that is that it penalises sensible consumers of alcohol with higher prices.

Another method that the government could use to lower the consumption of alcohol would be to implement a national negative advertising campaign to promote the ill effects of excessive alcohol consumption. This policy should reduce the demand for alcohol, this can be seen as a shift left in the demand curve (D to D1). The market is no longer in equilibrium as there is now excess supply in the market. Firms have now got unsold stocks of alcohol that they want to sell so will lower the prices. Consumers are now incentivized to buy more and there will be a contraction down the demand curve. The market will be in equilibrium again when prices are P1 and quantity demanded is Q1. As a consequence the negative advertising campaign has resulted in a reduction in alcohol consumption.


However the effectiveness of the campaign will depend on the amount of money spent on advertising. The money spent on negative advertising could also have gone towards the up keep of other public services such as schools. Which means that the increased advertising spending will carry an opportunity cost.

One final way policy that a government might use to lower the consumption of alcohol is by subsidizing a substitute good such as low alcohol beer and wine. The effect of the government subsidy would be to increase the supply of low alcohol products (S to S1 in the diagram below), this would lead to excess supply in the market. This would mean that these companies would lower their prices in order to sell unsold stocks. This would then lead to an extension down the demand curve as consumers will be incentivized to buy low alcohol beer as the price falls. Because low alcohol beer and wine are substitute goods the demand for alcohol will fall as seen in the diagram below. Therefore by subsidizing low alcohol products the government will reduce the consumption of alcoholic products.

Market for Low alcohol Drinks



Market for Alcoholic drinks

However the extent to which this policy will work depends on how close a substitute low alcohol products are to low-alcoholic wines and beers, if they are not close substitutes then then the fall in price of low alcohol wines will have very little effect  on consumers of alcohol and the policy will fail.

Overall I believe that imposing a specific tax on the consumption of alcohol is the most effective method of reducing alcohol consumption as first of all the policy will work and has the added benefit of raising revenue  that can be used to support the NHS (especially accident and emergency units) and also fund anti drinking campaigns. Whilst subsiding low alcohol products is likely to have limited success and will cost a lot of money to implement.


Things to do in a 10 mark question

1. Define Key terms 

2. Make enough points to answer the question ( at least 3 relevant arguments)
(Use a range of data)

3. Develop your points in logical chains.
4. Use information from the extract to support your points.
5. Say something significant about the points you have raised/ demonstrate an understanding of the limitations of the data
6. Have a final judgement that is supported by the data (mini conclusion)

Insert extract Paper 3 
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31. How does Brazil compare with the UK in relation to human capital and macroeconomic stability? You must use the data in Extract C to support your assessment. (10 marks)

Human capital refers to the accumulated stock of skills and knowledge, relevant to work embodied in human beings whilst macroeconomic stability refers to the extent to which an economy has achieved or is achieving its macro-economic objectives (which include, low inflation, stable rate of economic growth, high levels of unemployment and a satisfactory balance of payments.

 In terms of Human capital the UK performs better when compared with Brazil in relationship to HDI where according to the data for 2013 it has a Human Development Index of 0.875, ranking it 26th in the world. In comparison Brazil has an HDI of 0.730 ranking it much lower at 85 in the world. 

The HDI scores allows economists to compare, both country’s performance, in relation to human capital as it is made up of 3 variable, GDP per capita, mean number of years in education and life expectancy from birth. It can be argued that the mean number of years in education can be used as an indicator of the productivity of the work force as it could be assumed that this will lead to a more skilled workforce. Added to this that lower life expectancy from birth might point to a less healthy workforce. Therefore the fact that the UK scores higher on the HDI suggests it performs better in terms of the Human capital of its citizens.

However it should be noted that the extent to which HDI can be used as a measure of human capital should not be overstated. It is made up of 3 measures only two of which (Life expectancy and mean number of years in education) are directly related to Human capital.

Overall the evidence seems to suggest that the UK performs better in terms of human capital, supported in part by the higher HDI, higher literacy rates (99% as opposed to 90.4% in Brazil) and lower infant mortality rates (4.5 per thousand as opposed to 19.9% per thousand live births) 
In terms of macroeconomic stability the picture is more mixed. The UK has stronger data for inflation 2.7% (as opposed to 6.2% in Brazil) and a lower current account deficit at -2.4% (as opposed to -3.83% in Brazil). However the UK’s unemployment rate is 7.7% as compared to 5.5% in Brazil and the UK’s average growth rates between 2000 and 2012 were 1.72% per annum as compared to 3.14% per annum.

The data seems to suggest that the Brazilian economy has benefitted from higher rates of economic growth (average growth rates of 3.41% between 2000 and 2012, as opposed to 1.72% in the UK) and that the stronger levels of aggregate demand have increased employment levels and national income. This increase in national income could explain why Brazilian consumers are importing more goods and services leading to a higher current account deficit that that experienced in the UK.

However it could be argued that the higher rates of inflation might act as a drag on consumer spending, negatively affect consumer and business confidence and therefore reduce economic growth and employment in the future.

Overall it could be argued that whilst the UK has lower employment levels and growth rates than Brazil, it’s future prosperity is more stable because it has less risks attached to higher inflationary pressures than that of Brazil. 

15 mark question and 

25 mark questions are marked in the same way as in paper 1 and paper 2 
However all questions are based around the source material (provided as a separate booklet)

Answering Market Failure questions (25 marks)

Questions that are concerned with market failure are very popular with examiners both at AS and the A2. They are often questions that candidates perform really well on, especially if you stick to some simple rules.

Example questions (AS)

Typical 

1. Using the information in the data and your own economic knowledge, evaluate the economic case for and against governments attempting to influence how mobile phones are manufactured and used. (25 marks)

2. According to some commentators, the mining industry is well known for the damage it

Inflicts on the environment’ (Extract C, lines 8–9).

Using the data and your economic knowledge, evaluate the view that mining activities

should be left to market forces with minimum intervention by governments. (25 marks)

3. ‘Scarce resources can be allocated or rationed between competing uses in a number of

ways’ (Extract E, lines 1–2).

Using the data and your economic knowledge, evaluate the case for and the case

against the NHS charging for its services. (25 marks)

Example questions (A2)

Typical 

1. Should government intervene in the housing market, for example using subsidies, or leave the provision of housing to market forces? Using the data and your knowledge of economics, justify your answer. (25 marks)
2. In recent years, the EU has decided that the agricultural sector must become ‘more responsive to market forces ‘(Extract F, line 12)
Using the data and your economic knowledge, discuss whether UK farming would benefit from greater responsiveness to market forces and less intervention by the UK government and the EU.
3. ‘Many ideas in the UK for coping with rising health care costs are imported from other EU countries (Extract F, lines 1 and 2)
Using the data and your economic knowledge, assess whether the UK government should encourage greater use of market forces in the provision of health care. (25 marks)

Other types of market failure questions

4. ‘The supply and use of water result in many externalities, both positive and negative’ (Extract B, line 16)

Using the data and your economic knowledge, evaluate UK government policies that could be used to deal with problems associated with the supply and use of water. (25 marks) 

5. ‘Some major UK businesses appear happier with permit trading than with alternative policies such as quotas on emissions or the taxation of fuel’ (Extract B, lines 29-30)

Using the data and your economic knowledge, evaluate the possible impact on UK businesses of policies to reduce pollution and climate change. (25 mark question)

6. Using the data and your economic knowledge, evaluate the view that interventions in the fishing industry by the EU is unlikely to correct market failure but is likely to result in government failure in both UK product markets and labour markets (25 marks)
7. Using the data in the extracts and your economic knowledge, assess whether you agree that fixing a maximum price for energy that is sold to households is the best way of dealing with market failure in the UK energy industry?
8. The Government would like to improve the well-being of the population by encouraging people to adopt a healthy diet. Using your knowledge of both traditional economic theory and behavioural economics, assess alternative policies that the Government might adopt to try to achieve its objective.
9. ‘The UK’s strong reliance on landfill indicates the existence of widespread environmental market failure’ (Extract B, lines 16-17)

Using the data and your economic knowledge, evaluate alternative methods of correcting market failure arising from waste disposal) (25 markets)
Answering these questions

Whilst the overall structure to these answers is similar to the structure of previous essays, market failure questions are asking the respondent to consider the following:-

1. What are the benefits of leaving economic activities to the free market? Sometimes free market outcomes are called market outcomes or the price mechanism. They mean the same thing and refer to a situation where markets are not subject to government intervention. These markets are left to allocate resources on the basis of the demand and supply – with ideally a large amount of firms competing with each other)

2. You will be given a text from which you should be able to identify at least one market failure and a drawback for society of the market failure. You should be able to explain the market failure and be able to draw it.

3. You should be able to explain a few government interventions to solve the market failure.

4. Be able to provide an evaluative comment on the government intervention

5. Be able to provide a government failure associated with the government intervention.

6. Be able to show the government intervention on a diagram.

If you can answer the questions above you are well on the way to answering a market failure 25 mark question!!




Introduction: The introduction is important for setting the scene. Use it to define key terms and give a brief overview of the approach you’ll take during the essay – briefly outline the 2/3 points you’re going to make during essay. 

1st paragraph (ANALYSIS)/ Market success – Outline the case for either, the government withdrawing from intervening in the market (if there is already some government intervention),or  the government not being drawn into intervening (if it has not yet intervened). Either way you’ll be explaining the benefits of the free market/ price mechanism. (USE SOME OF THE ARGUMENTS BELOW IN YOUR FIRST PARAGRAPH)

Case for the free market might include one or more of the points below:-

Allocative efficiency – in free markets, consumers get the goods they want at the prices they are prepared to pay. Firms will only be incentivized to produce what consumers want, increases in demand by consumers for a particular good will lead to an increase in price which will signal to firms to produce more. Finally where there is excess demand for a good the market will ration distribution by allocating the good or service to consumers that can afford to pay!!
Allocative efficiency – in free markets where the markets are competitive. The argument is that there is less allocative inefficiency. The competitive market has high levels of competition and this means that prices remain low. Output in the industry is high as lower prices mean that there is high demand for the product. This in turn means that there is much less of a dead-weight welfare loss.

Productive and x- efficiency - In a free market where there are a large number of firms competing with each other, firms will have every incentive to keep costs down. Consumers end up getting the goods they want at a low price (consumer welfare is increased). It could also be argued that in competitive markets there is less likely to be x-inefficiency, as firms are likely to reduce wastage in order to operate on the lowest possible average cost curve.
2nd Paragraph (EVALUATION)/ Market failure: Identify the market failure in the text and explain it to the examiner. Use a diagram to support this evaluation 
Or 

Point out that the free market may also lead to a less than socially optimum outcome. It could be the case that the market structure that comes out of a free market is one where markets are quite concentrated. This means that the market is dominated by Monopolies or Oligopolies. These are market structures that could lead to a welfare loss as prices are higher than they should be. There market power enables them to artificially raise prices.

Or 

Any other evaluative comment that you think of!!

3rd Paragraph (Analysis): Government should intervene to correct another market failure, explain the market failure, and explain what the government could do to correct the market failure.

Or 

Government should not intervene to correct a market failure because the government intervention would lead to a government failure. (Explain the market failure, Explain the government intervention and explain the government failure)

Or 

Government should not intervene in the market because competitive markets work (use one of the arguments not used in the first point !!!

4th Paragraph (evaluation) 

Use any of the many ways of evaluating a point to evaluate either of the points you’ve made above.

(Including – as long as this wasn’t your 2nd point – the government intervention could lead to government failure)

5th Paragraph: Government should intervene to correct another market failure, explain the market failure, and explain what the government could do to correct the market failure.

Or 

Government should not intervene to correct a market failure because the government intervention would lead to a government failure. (Explain the market failure, explain the government intervention and explain the government failure)

Or 

Government should not intervene in the market because competitive markets work (use one of the arguments not used in the first point!!!

6th Paragraph (evaluation) 

Use any of the many ways of evaluating a point to evaluate either of the points you’ve made above.
(Including – as long as this wasn’t your 3rd point – the government intervention could lead to government failure)

7th  Paragraph: Conclusion: Come to a final judgement. 
Suggest which of your arguments is most convincing. Use additional information that you’ve not already used in the essay to support your final position or simply rank your judgement. 
Rank your answers.
Using the information in the data and your own economic knowledge, evaluate the economic case for and against governments attempting to influence the activity of operators and handset manufacturers in the mobile phone industry. (25 marks)


Note: Extract E continues on the next page.


Using the information in the data and your own economic knowledge, evaluate the economic case for and against governments attempting to influence the activity of operators and handset manufacturers in the mobile phone industry. (25 marks)

The use of mobile phones has grown significantly over the last 20 years and consumers have benefitted from having a product that has been thought to improve their lives. However research from the WHO has cast some doubt on this view. It has argued that the production of phones services can have an external costs (negative externality) on society because the radiation emitted by both the masts and the handsets; negative externalities are the spill over costs to third parties not engaged in the market exchange. Some economists will therefore suggest that there is a case for the government intervening in the market to address this possible market failure. During the course of this essay I will examine the case both for and against this intervention.

The case against governments intervening in the markets can be made by exploring some of the advantages of market economies. These economies benefit from firms producing what consumers want at the prices they are happy to pay, in the amounts that they want them. This is supported by extract E line 3 “The worldwide smartphone market has enjoyed explosive growth of 54.7% in 2011” This argument is based on the price mechanism where prices changes serve to ration, incentivise and signal to both firms and consumers to change their actions. In the free market the price mechanism is thought to allocate resources in an efficient way (allocative efficiency)

However there are those economist that believe that there is clearly a case for intervening in the market. It could be argued that the government should reduce the negative externalities of production associated with the operation of mobile phone companies. In the extract it states that “Another area of concern is the radiation emitted by broadcasting masts” Line 7 extract F. This suggest that the mobile phone companies operations generate spill over cost – effects on third parties not involved in the market transaction (the production or consumption of the good or service). 


The case government intervention could also be made by those economist that believe that there is a role for reducing the negative externality of consumption associated with using mobile phones. They might suggest that the consumption of phone services by consumers may lead to a negative externality of consumption. They believe that people “could be at risk” of mobile phones causing cancer (line 1 extract F) increasing the burden on the health service. As such society is consuming  too much of this particular service and would benefit from a reduction in the use of phone services – for example by reducing either the amount of phones bought or the amount of time people spend on phones. This is shown in the diagram below where Marginal Private Benefits are higher than the Marginal Social Benefits. To reduce the externalities associated with mobile phone use the government could apply an indirect tax on handset manufacturer, which would raise firm’s costs of production, which would lead to an increase the price of handsets and reduced demand for mobile phones. The subsequent decrease in mobile phone use would reduce the market failure.


However a reason against the government intervening in the market is that it might lead to a government failure. In this case an unintended consequence of increasing the indirect tax on mobile phone companies is that it may lead to a reduction in employment in the industry. This is because as firm’s cost have increased they are likely to pass some the costs on to consumers in the form of higher prices. As demand for the good or service falls so will demand for workers are demanded in the industry – workers are in derived demand.

However the extent to which the negative externality is reduced depends on the magnitude of the increase in taxes. Furthermore the overall effectiveness of this policy depends on how much of the tax is actually passed on to the consumers, it is entirely possible that the firm’s may absorb the cost and accept reduce profits.

Added to this the government faces the additional problem of determining how much taxes need to go up by to fully internalise the negative externality. 

Another argument against the government intervention in the market is that the intervention - such as increased regulation - may lead to government failure. In this case the government may intervene in the market by compelling handset manufacturers to reduce the amount of radiation their phones emit or similarly the mobile network companies may face increased regulation to limit the amount of radiation their masts emit. However introducing new regulations might lead to a government failure as the government would now be required to create a massive bureaucracy to oversee and administer the new regulations. This could be seen as a case against government intervention in the market.

However it could be argued that the increased cost of administration would be relatively small as the oversight of the new regulation could be given to the existing industry regulator.

Furthermore if the government set high fines for non-compliance with the new regulations then firm’s maybe sufficiently motivated to curtail any plans to avoid the regulation.

Finally it could be argued that the Government could decide to intervene in the market by attempting to reduce the information failure and so therefore change the behaviour of consumers. The government might decide to launch a national advertising campaign to warn consumers of the twin dangers of overly using mobile phones or being in close proximity to broadcasting masts. This would have the effect of reducing the demand for mobile phones or decreasing the usage of mobile phones. Furthermore by avoiding proximity to broadcast mast might reduce any possible harmful effects from them. 

However the cost of such an advertising campaign could be quite high, leading to a large opportunity cost. The Government would need to make a judgement about whether the money could have been better used somewhere else in the economy.

In conclusion, ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

The Government would like to improve the well-being of the population by encouraging people to adopt a healthy diet. Using your knowledge of both traditional economic theory and behavioural economics, assess alternative policies that the Government might adopt to try to achieve its objective.

TASK: USE THE MARK SCHEME TO WRITE THIS ESSAY .. USE A SEPARATE SHEET OF PAPER



A) Questions that ask students to consider the impact of changes in the macro economic performance of other countries on UK performance.

Example 

· Discuss the impact on the UK economy if ….. 

1. There is a decrease in economic growth (or a recession) in CHINA (or some other country)

2. There is an increase in inflation in China (or some other country)

3. There is a balance of payments deficit/surplus in China (or some other country)

4. There is a Supply-side shock on the UK economy (e.g oil price rise, recessions in a major trading partner, credit crunch in USA, Earthquake in Japan, war in middle east etc)

B) Questions that ask students to consider policies to reduce the BOP deficit on the current account

· Evaluate measures that a government might adopt to reduce a Balance of payments deficit

· Assess the importance of floating exchange rates in trying to reduce a balance of payments deficit

C) ) Questions that ask students to consider policies that might reduce/improve the countries macroeconomic performance 

· Evaluate policies that could be used to reduce inflation in the UK 

· Evaluate policies that could be used to reduce structural unemployment in the UK

· Evaluate policies that could be used to reduce BOP deficit/surplus

· Evaluate policies that could be used to avoid a recession in the UK

· Evaluate policies that could be used to reduce the UK’s budget deficit

· Evaluate the impact of policies aimed at reducing the UK’s budget deficit might have on the short term and long term performance of the UK Economy

D) Questions that ask students to consider the importance of a particular policy in trying to improve a particular macroeconomic objective

· Discuss the importance of interest rates as a way of controlling inflation

· Discuss the importance fiscal policy in trying to avoid a major recession

· Discuss the importance of Supply-side reforms to improving a UK Balance of trade in goods.
· Examine the importance of protectionist policies for a government when trying to improve its macro-economic performance.
E) Questions about conflicts in macroeconomic objectives

· Evaluate government policies that can be used to avoid conflicts in achieving macroeconomics objectives?

F) ) EUROPE 
· Evaluate the impact on the UK if Germany were to leave the EU

· Discuss the impact on the UK Economy if the UK were to join the Euro

The overarching theme of A2 Micro economics questions tends to discuss whether competitive markets are better than uncompetitive markets and whether/How Governments should intervene in markets to make them more or less competitive. These questions are then discussed in terms of:-

· Competitive markets and uncompetitive markets

· Wage theory and labour markets 

· Income and wealth inequality 

· Market failure and Government intervention

Another theme of A2 Micro economics asks students to 

· Comparing the efficiencies of free markets versus the inequality or unfairness it might generate. 

Note: The guidance above is not an exhaustive list of questions that the examiner can ask, just an outline of the most common themes that have come up in recent years.

Growth and objectives of firms 

· Evaluate whether profit maximization is always the most important objective of firms.

· Evaluate the view that mergers, such as the one proposed between British Airways and Iberia Airlines, are usually ‘good for consumers as well as for the companies involved’ 

· Evaluate the view that firms will always try to minimize their costs and maximize their revenues.

Competitive and imperfectly competitive product markets 

·  Evaluate the case for and against government intervention in markets to reduce the power of Monopoly 

· Evaluate the view that governments shouldn’t intervene in the market for goods and services to make them more competitive

· Evaluate the view that Oligopolies are always bad for consumers and good for producers 

· Evaluate policies that can be used to make markets more contestable 

· Evaluate policies that can be used to make markets more competitive

· Discuss the view that competitive markets are more efficient than imperfectly competitive markets
· Assess whether price discrimination is always desirable 
· Evaluate the view that mergers, such as the one proposed between British Airways and Iberia Airlines, are usually ‘good for consumers as well as for the companies involved’ (repeated)

Wage theory and labour markets 

· Evaluate whether governments should intervene in labour markets to improve wage rates.

· Evaluate whether governments should intervene in labour markets to reduce trade union power

· Discuss the impact of Government policies to reduce Trade union power within a Monopsony labour market

· Discuss the impact on wages and employment levels  of an increase in productivity in the labour market

· Evaluate the view that Governments shouldn’t intervene in labour markets to reduce wage differentials 

Income and wealth inequality/ Poverty

·  Evaluate policies that can be used by the UK Government to reduce income and wealth inequality

· Evaluate the view that progressive taxation is the best way to reduce income and wealth inequality

· Evaluate the view that increases in the NMW are the best way to reduce income and wealth inequality in the UK

· Evaluate whether it is better for the UK government to reduce poverty by using policies to improve people ability to earn higher wages during their working lives, rather than through the provision of state benefits to those who are poor for various reasons.

Market failure and government intervention

a) Evaluate the case for and case against government intervention in 

· The housing market

· Fishing industry

· Energy provision

· Newspapers and media 

· Health care 

· Etc

Note: Usually these questions are provided with data (section A)

b) Discuss whether UK farming would benefit from greater responsiveness to market forces and less intervention by the Government.

Evaluation in essays 

Wider context – In Macro and Micro economics many factors determine the outcome of a particular policy. Remember to consider what else might be going on in the economy other than the changes in the factor being discussed.

e.g “However whilst a fall in interest rates may cause a fall in inflation we must also consider what else is happening in the economy at the same time, for example if the government were running an expansionary fiscal policy at the same time as the rise in interest rates then there may not be a fall in inflation”.

Drop the “ceteris paribus” assumption? 

Individuals, businesses and governments do not always act rationally – indeed how can they? The behaviour of economic agents cannot mirror the neat precision of an economic textbook, remember the “law of unintended consequences”

Effeciency – Does the action in question lead to an improvement or loss in Economic efficiency (allocative or productive)

“However whilst Monopolies can lead to a greater profits by reducing output and charging higher prices they are likely to be productively inefficient by not operating at the lowest point on the average cost curve”

Equality – Do some parties gain more than others? Is the outcome fair?

e.g  However whilst increasing the National minimum wage can increase the income of some of the poorest sections of society it can cause unemployment which may have the effect of considerably lowering the incomes of those people made unemployed.

Scope – Will the activity affect a large amount of people or just a few

e.g  “However a policy such as lowering income tax can have a huge impact on the economy as it will impact on large section of the working population”

Time – Will the event being discussed have a long run or short run effect

“However a drawback of Supply side policies such as HS2 is that they can take a long time to work”

Prioritisation – which of these policies/outcomes is best – put them in order

Scale/Magnitude  Consider the magnitude of the event 

e.g “The extent to which increases in interest rates reduces inflation depends on the size (magnitude) of the change in the interest rate …”

Advantages –e.g  What are the additional benefits associated with a particular policy ?

Disadvantages –e.g  What are the disadvantages associated with a particular policy?
Conclusion 

A definite ending is the perfect form of conclusion. The best conclusion should be a summary of your views and main points in the essay, what you chose as the answer and why you decided to use that answer. In most cases, there is no simple answer, so when you are writing an economics essay, in the first place, you should state what the difficulties of the issues are. This may feel like you are restating your main points since you already made an argument in the body clearly, but readers always appreciate a summary.

Things to consider 

1. Go where the balance of your argument is. Or what you believe to be your most persuasive argument

2. Rank your answer .. the strongest argument is this because ….although this is a solid argument because …

(This is a way of introducing a new data that supports an existing line of argument or indeed a supporting theory)

3. Bringing in a supporting line of argument to support your final judgement. By this we don’t mean creating a totally new line of argument that you haven’t used in the essay)

.
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Papers 1 & 2 
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Make sure you have answered all parts of the question


Don’t write any more than you need to! (Note: these questions do not need evaluation, so don’t waste your time doing it!!)
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15 mark question task: Micro 
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15 mark question task: Macro 
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Draw the appropriate diagram in the space opposite




















Micro economic essay question
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Write your answers to question 6-7 in the space below:-





Micro economic 25 mark question
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Read the model answer provided and the answer the questions below to demonstrate your understanding of the skills required in a 25 mark question.


Read the essay and draw the appropriate diagrams in the spaces provided.


How many points of analysis are there throughout


How many evaluation points did you see throughout the essay?


How many pieces of application did you see?


Was this a good introduction? (Yes/ No) (circle the correct answer)  – What do you need to see in a good introduction? List the 2 things you should see in a good introduction in the space below


How many evaluation points were there for the first point?





















































Paper 3 





Example





 31. How does Brazil compare with the UK in relation to human capital and macroeconomic stability? You must use the data in Extract C to support your assessment. (10 marks)
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Example answer





     Data/comparison





     Explanation 





     Judgement





     significancxe





 Data/comparison 





  Explanation





 





     significance





     Judgement





Method: “Markets work – markets fail – government intervene to correct a market failure – Governments fail!”











Market success: The points made in support of a market without or with less government intervention











Market failure: The points made in favour of government intervention





1st point





2nd point





3rd  point
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NOTE: THIS RESPONSE HAS FOUR MAIN POINTS !!! 


WHY? TO ILLUSTRATE THE RANGE OF POINTS YOU CAN MAKE !!!!





First year response





1st point
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2nd  point
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3rd point





4th point
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Types of Macro Economic questions 





Types of Micro economic questions 
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